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{(a)}0 (h) (Q) o (d) 1
(I|)“.d The point of Intersection of the internal bisactors of the angles of a triangle is
cal

(a) Orthocaner (b) Centroki Ac) In-centar  (d) Cir-cum center
(i) The inclinatisn of the bisootor of the first and third quadrants is

{a) w2 (b) 3 w2 (c) wd (d) An/4
() The 1wasure of the angle between tho limos X* = xy =y -~ 015

(a) 145° (b) 160° (e) 00° (d) 45"
(v) The tangent of the angle measured fro + v X - axis to the line in counter-
clock direction is called of the line. _

(a) Inclination () Slope - © (o) Gradlent (d) Both{b) and (¢}
(vi) () =x"~4x+0Ohasa ‘

(a) Maximum at (5, 2) (b) Minimum at (5, 2) (e) Maximum at (2, 5)

(d) Minimum &t (2.5)
(vily A conko section s a circle If:

() (2,0) (b)(2,-8) (e)(2,5) (d) (-2, -8)
(vill) A conlc saction is a circle if:

(a)owt : ‘(b)e-.o o1 (o<1
(1) pm'mndb-zf-loﬁml-ahf-‘lm

e [ [ 81
(a) 1 v pym (o) & (d) ®

() Any paint where { (s nelther incroasing nor docroasing Is calied:
(a) Stationary point  (b) Gommon point (€) Intersection point
{d) None of Jnu

) i) =X -1, x20then ()=
(a) 1451, %20 )2 1xx<0 (¢)x41,x20

X411 w2
et C— X
(a)2 ®) 1 ()0 oy

() I 1(x) = sin x, then " (x ) =

= L,
(a) -1 (b) 0 ©1 '@v y

(xii)

o JPtex= Q



PO L W x = 1)
;:gﬂtx- 1)'ee 4 fgg li((xx - I))‘:co
(xv) Jo'"comxdxw___
sl)c"“‘w ) sinesin* ' +c  (c) 0™ /oosx + 0

d) 8*"*ooex + o =
{ev)  The foci of tho hyperbola &' " d-d ™ 1 4
() (+e0) ) (0% ¢) (0) (+a, 0) (d) (0, £ &)

'(xvm lttlg}hgngvmtoni- L€ are coplana, thon! L
(@) [8,b.Clan YRS (©)[8.5.¢)p
None of these

g’n .
(ovil)  The point (5, 5) fies ____ the straight fine 10x -~ 12y 4 17 = 0

(a) on {D) above (c) below (d) None of these
(i) IFA= My 1-2in® x dx, then A = 2
(:J ? (b) 0 (e)1 {d) -1

Do) % (logex)=_
{u) 0.4343/% (o) logee/x  (c)ine™/x  (d) Both (a) and (b)
Section-B

Note; Solw ny_TEN of the following g @stion: Al QUOSTLION earriet

merks, '
Q.2  Consider the sino |moﬁonsaql|' the polynomial function p; IR — IR, defined
by p{x) =x2 + 1, ¥x £ IR. Find pos, s0p and ps and show that no two of these are

lim ¥ - 8x-10
03 Findthe imitof: x <5 2¢ - 13x 415

x X
Q.4 Derive tho equation of the straight Bne In theformof : o * b = '
Q.5 Find the anglo betweon the lines representod by x* - 5x + 6y* « 0
Q.6 Evnlunlo:]x'/‘i-o;’dx
dy
Q7 26 «3xy 4y = 5, find dx
Q8 Lot!:Abe defined by 1(x) = x*™, wx ¢ IR, Find #'(x)
Q.0 Determine the pint on the curve y » 21 - 16x* + 36x + 10 at which the
tangent is parallel (o x-axs.

!‘ll .
010 Soiva the differontial equation: ¥ =¥ *1 (B8 S enx
1.
Q.11 Find the equation of the circle which passes through mo% (2. 0),

(-a 0)and
whose radius s = * b’ '

Q.12 FIMMoenm.votﬁcee.toclandooemtﬂcltonMellpu4x’-16(§>y’+
2001 +316 = 0 O

Q.13 Find the equation of the tangent and normal to the hyperbola x° - y* = 49 60

Q.14 The Position vectars of three points A, B, G are rapectively 2. b and

28 - B_ D divides AC in the ratio 2 : 3 and E divides BD In the ratio 4 ; 1, Find the
position vector of E,

8. _Solw
6.+ 1) marks.
Q.16 (a) Deriva tha distancs formula of & point (%', y') from & line 1 : &% + by + ¢ = 0.
(h)  Find the equation of the Parabots, the Goordinates of any point on whieh are
given by

X= U 00G ¢, ¥ = tualn a- 172 g

Q.18 (8) If y - tan 2%, find dy/dx by defiilion.
(®)  Evaluate . | " in 3x dx.
Q.17 {a) Find ihe aoute angle beween e tallowing pairs of straight lines:

X+2y+1=0 s X=y=0
®) Bvakiats: J aln® x dx
Q.18 (a) Find the Tm%mo values, if any, of the function I: IR*—s IR when
(X -2) (x - 3)
f{x) = x

P
(b)  Find the extrema of the paralielepiped with sdges OA, 0B and 0, where A,
B, C arc the points (0, 1, 1} (-2, 1, 8), (2, -2, 0) 1espectively.

®, 16) ‘Q



